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3 (b)

. 2sin®x+ sinx—1
lim — :
r2sin“x —3sinx + 1
6

4 sinx cosx + cosx

im-—
x_)g4smxcosx — 3 cosx

[by L'Hospital’s rule]
. cosx(4sinx+1)
M Cos x (4sinx—3)
x—’a

https://prernaeducation.co.in

011-41659551 | 9312712114



. T
_4sm6+1 _

- T .
4smg—3

4 ()
1/x?

- (14 5x? _ 2%
lim 5 =lim|(1+ 5
x-0\1 + 3x x—0 1+ 3x

1 2x?
i 217322 2
— ex 0 =e

5 (a)
We have,
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6 (a)

If x € Q, then n!m x will be an integral multiple of 7 for large values of n. Therefore, cos(n!mx) will be

—3

1/x?

either 1 or —1 and so cos?™(n!mx) = 1
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If x € Q, n!lm x will not be an integral multiple of 7 and so cos(n!mx) will lie between —1 and 1
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7 (9
We have,
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10 (c)
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[by L’'Hospital’s rule]
Thus, L<lh<ly
11 (b)
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12 (a)
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13 (d)

We have,
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14 (a)
We have,
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15 (c)
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m

h—0 h
Applying L’'Hospital’s rule,
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16 (a)
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17 (c)
We know that
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18 (d)
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19 (c)
We have,
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20 (d)
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Here, LHL # RHL
So, limit does not exist.

PRERNA EDUCATION

ANSWER-KEY
Q. 1 2 3 4 5 6 7 8 9 10
A. B B B A A A C C C
Q 11 12 13 14 15 16 17 18 19 20
A B A D A C A C D C D

https://prernaeducation.co.in

011-41659551 | 9312712114



